Economics for CED

Problem Set #1 answers

1. Read through Chapter 2 of Essential Principles of Economics online 

(http://william-king.www.drexel.edu/top/prin/txt/Neoch/Ch2ToC.html) and answer the multiple choice questions at the end of the chapter. 

Answers are given as you go through.
2. This question is from Prof. Stephen Marglin’s Social Analysis 72 class, problem set #1, question 1: The Utility Possibility Frontier. 
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1.  On the graph above, which points are feasible? 

2.  Which points are optimal? 

3.  Using the Pareto Improvement concepts we learned in class, describe the 

move from point A to: 

a. Point B 

b. Point C 

c. Point E 

4.  Absent any compensation, which of the above moves would Peter accept? 

(Explain your reasoning.)  Which would David accept?  (Explain your 

reasoning.)

Answers:

1. Points A, B, C and E are feasible because they are on or behind the Utility PossibilityFrontier (UPF). Point D lies beyond it and is unfeasible, although both David and Peter would like to be at Point D, if it were attainable.

2. Points B and C are optimal because they are ON the UPF.

3. 

a) The move from A to B is a Potential Pareto Improvement. It is not a Pareto Improvement because both parties are NOT better off; David loses utility from the move. But, it is potentially a good move for both Peter and David because we could redistribute such that both Peter and David were at or above their initial utility level.

b) The move from A to C is a Pareto Improvement. Both Peter’s and David’s utilities increase. A Pareto improvement is a change that leaves no one worse off and at least one person better off. The move from Point A to Point C satisfies this criterion. If you draw a vertical line parallel to the vertical axis up from A to the UPF and a horizontal line parallel to the horizontal axis from A to the UPF, all points in that wedge will be Pareto Improvements. Any point on the UPF itself is called Pareto Optimal, which means that no move from that point could make one person better off while leaving the other person at the same or higher level of utility.

c) The move from A to E is neither a Pareto Improvement nor necessarily a Potential Pareto Improvement. All we can say about this point is that David’s utility increases while Peter’s declines. The problem is that the question does not give enough information to tell what this move represents. We know that any move from an interior point to a point ON the UPF, such as the move to B is a Pareto or Potential Pareto improvement. Specifically, the move to any point on the UPF but not inside the arc marked by the wedge described in (b) is always a Potential Pareto Improvement. The move from an interior point to another interior point outside the wedge may or may not be a Potential Pareto Improvement. The truth is, given the information provided, you can’t tell. This was a trick question!

4. Absent compensation, Peter would accept the moves from A to C or B, because in both of those cases his utility level is higher. Similarly, absent compensation, David would accept the moves from A to C or E for the same reason.

